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KHAEIE TR 2 .
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//BaggageAndMoney. java
import java.util.Scanner; E 3.1 $zirsd
public class BaggageAndMoney {

public static void main(String args[]) {

int trainCharge = 12; /] KEFEIB T 12 g6 /kg
int carCharge = 22; /R E iz it 2% 22 gt /kg
double planeCharge = 0.062 ; // %Wt iEH % :0.062 JC/g

Scanner reader = new Scanner(Systemn. in);
double weight, charge;
System. out. printf("#j AfTZEE:");
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weight = reader. nextDouble();
System. out. printf("f7ZHE & : $ £ T % (kg)\n", weight);
Systenm. out. printf ("G5 it 1 T H : % d(kg)\n", (int)weight);
(GACED | / /4% 23550 (int) weight * trainCharge [ {E M {H %5 charge
Systenm. out. printf ("] kK 44EiE ( $d Jt/kg), #JH : % £ J6\n", trainCharge, charge) ;
System. out. printf ("FHFE T EH : % d(kg)\n", (int) (weight + 0.5));
[t 2] /%3353 (int) (weight + 0.5) * carCharge Y {E I {H 45 charge
Systenm. out. printf (" K 4 4EiE ( $ d Jt/kg), #H]: % £ J6\n", carCharge, charge) ;
Systenm. out. printf("fFZxHH: $ £ 72 (g)\n", weight x 1000);
System. out. printf ("THF i} A EHE : $d(g)\n", (int) (weight x 1000 +0.5));
(GRS | / /%% 334 (int) (weight % 1000 + 0. 5) * planeCharge f {5 i {H 43 charge
Systen. out. printf ("] KHLIEBE (% £ Jt/g9), B¢ : % £ J&\n", planeCharge, charge);
}
}
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//MachineSell. java
import java.util. Scanner;
public class MachineSell {
public static void main(String args[ ]) {
int money;
int drinkKind;
System. out. printf ("% A 4% :2 8¢ 3 JC (3% Enter EEHHIN) ") ;
Scanner reader = new Scanner(Systemn. in);
money = reader. nextInt();
if (money == 2) {
System. out. printf("FEHEEHAD R (1), THETD K (2) ML EH RAK(3)Z—:\n");
System. out. printf ("% A 1,2 8% 3:");
drinkKind = reader. nextInt();
switch(drinkKind) {
case 1 : System. out. printf("f8 |5 H HK\n");

break;

case 2 : System. out. printf("f5 Z|FFH A R K \n");
break;

case 3 : System.out. printf("fHF|EEF KK \n");
break;

default: System.out.printf (" EEE4EIR")

’

}
else if (money == 3) {
Systenm. out. printf ("FEFEIL L AR (1), WL 2 (2) IR (3) Z —:\n");
System. out. printf (" A 1,2 5§ 3:");
drinkKind = reader. nextInt();
switch(drinkKind) {
case 1 : System.out. printf("f4 2] #& O ] 4\n")

break;

case 2 : System. out. printf("f8#|JE HEE E\n");
break;

case 3 : System.out.printf("f5 3|3 1 H i \n");
break;

default: System.out.printf (" EHE4EIR");
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else {

System. out. printf ("4 A MY BT AKF 5 EK") ;
}

}
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//GuessNumber. java B 3.3 fEsc

import java.util. Scanner;
import java.util.Random;
public class GuessNumber {
public static void main (String args[]) {

Scanner reader = new Scanner(Systenm. in);

Random random = new Random();
Systenm. out. println("Z5 /R —4~ 1~100 38, 55 X 50" ) ;
int realNumber = random.nextInt(100) + 1;//random. nextInt(100)&[0,100) 77 [ HL 3% %k
int yourGuess = 0;
Systen. out. print ("#y A B REM ") ;
yourGuess = reader. nextInt();
while([ft#% 1]) /13 A1
{
F(0FLRS 2)) /IR T WSS

Systenm. out. print("fF K T, FHE ARSI ") ;
yourGuess = reader.nextInt();
}
else if([fGHS 3)) 115G /INT B2
{
System. out. print("fF/NT, FH AR R ") ;
yourGuess = reader.nextInt();
1

}
Systen. out. println("fEXF T!");
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charge = (int) weight * trainCharge;
charge = (int) (weight+0.5) % carCharge;
charge = (int) (weight * 1000+0. 5) * planeCharge;

yourGuess! =realNumber;
yourGuess > realNumber;

yourGuess < realNumber;



